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Ex/Phil/PG/3.4.1/70/2017

MASTER OF ARTS EXAMINATION, 2017

(2nd Year, 3rd Semester)

PHILOSOPHY

(Advaita Vedanta - I)

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

1. (a) How does Acarya Sankara   define superimposition
 adhyasa  in his commentary on the Brahmasutra ?
Show how this definition applies to both an erroneous
cognition and its object.

(b) Explain, in this connection, the controversy between the

Bhamat i  and the Vivarana schools of Advaita
Vedanta  regarding the interpretation of the term
‘ smrtirupah
 

’. 7+3=10
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2. (a) Explain the theory referred to in the statement, “kecit
tu yatra yadadhyasah tadvivekagraha nibandhanah

 bhrama iti ”.

(b) How does Acarya Sankara   refute this theory ?
5+5=10

+ =

3. (a) Explain the grounds behind the objection that the self

 atman  cannot be the substratum  adhisthana
 

 of
superimposition.

(b) How does Acarya Sankara   refute this objection ?

5+5=10
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4. Is dharmajijnasa  a pre-requisite of brahmajijnasa ?

Discuss after Acarya Sankara  . 10

Answer within 200 words.

5. How does Acarya Sankara   show that Vedic rites can be
performed only by those individuals who are qualified by
avidya ? Discuss in brief. 5

Or /
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6. “ tam kecit anyatra anyadharmadhyasah


 iti vadanti ”

— How does Acarya Sankara   refute the view mentioned
in this statement ? 5

7. Is it possible to regard benediction  mangala  to be the

meaning of the term ‘atha’ in the aphorism “ athato
brahmajijnasa ”. Discuss in beief. 5

Or /

8. Is Brahman known or unknown ? Answer after

Acarya Sankara  . 5

—————
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